
                          
         

            
         

Read chapter 2.1, in particular 
- the row-colum rule for matrix multiplication;
- powers of a matrix
- the final part on the transpose of a matrix. 
Answer the following questions, ready for the test on Friday.





      
         

     
  
  

      
           

       
           
       
          



Define a linear transformation T : R3 → R2 by

T

x1

x2

x3

 =

[
x1 − 5x2 + 4x3

x2 − 6x3

]
.

a) Write down the standard matrix for T.
b) Is T injective?
c) Is T surjective?
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